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E-mail: nio1@sibnia.ru

��� ������� �������� ����������� ����������  ����!"���� � � ����!"#� $��%�!��$���$�� &'�!� � -
$�- (!!������� ���!����$��� �%$�)����� ����� ������*������� ��� '��+�!���� ,������$��� ���������
��*�!"$�$��� ���-�$�� �� .)�'������$��� �� ��!������ �%$� )����� '��+�!��� �� �.��������-��)��� $��%�
���$)��$�����%�-���-��$"#��,�)�*����$��/�-$��$�)��� '���������%�!���)����)$���'������������'��$� � -
!�����

$�%�����������&� ���-�$/�.)�'������$/�������������'�� ����!"�������� � � -
�������"� - &$�)��/�����!"�$��%�!��$���$��&'�!��$� - (!!������/�������*����� � -
����)��!�/��.��������-��)���$��%��

""'(')*'

0������������ �*!�$��1'�����-���� ������*�2��� ��!��$� �� �!�3���� *���-��
�.��������-��)�4�� '���)$��������� ����!�$��� 5$�� ���* ���� �� $��/� -$�� �$��)$���
�%$�)����� )��!�� �� ��'�6������ ������*�2���� ����)$��� *��$��� ��*!�-��4�� ����
���%�����$�����7�)/��$�����'�$�)�������3����'������ ��$��'���)��!)����������
*�)��!)�/� �%��!��!������ �%$�)������ ��$���� )����)/� � ��#$� ���$�� ��� ����� ��% � -
-��� �4!��� �$�)���8$����� '�$�)�� ���4!��)��� �������� ' ��������$��� '���)��!)�� �
�������4�� )��!�� ��*����#$��� ���%�!"���� �4!��� �$�)�� � 9�*��3��� �%��*������� �
!�)�!"�����$������:$�)���*��������)���$)����!���!�� ����'�*����;/���*�������
)�$����� '������$�)� )��'������$�%���� �������$�-����� �/� �!�����$�!"��/� )� �� *-
)����'�����#�����6��������$��)��!���8$������������� ���'��������$��*�)��!)�
��*��$������*���/� ��*����#6����� ���� ���/� ��*��-�$�! "���� ����� �!��#$���� �%$ � -
)�����)��!����2 � !���

,���%���� �!�3���� $�-����/� ���#6��� %�!"���� )�!�-��$� �� �$�����/� ��4�$
)����)$��� �'�����$"��� !��"� ���%�!��� '�!����� ������� ����� �.��������)�� <
���������������"� - &$�)����9�$��3�������� ������������ ��$���� ���-�$���� ����� � -
���� '��  ����!"���� ���������� ���"� - &$�)��� �� ��*!�-����� ����!���� $��%�!��$1
���$�� ���#$� �'����!������ �4����-������ =*���$��/� -$� � ����*��3��� )����)$��
����-�$�$"���*��)���������$������'�����!�-���*��-�$ �!"����4������$������!����/
��$�)3�  �'���$"�$�-����� ��%�!"����� �$��������*�����/� )�$��� �� ���#$� ���$�� ��

ÓÓÓÓ������� �������!�#���������"���!�+,-,
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�-��"� ��3���� �)�!�1  �� *�)��$�-��)��� �4!��� �$�)��� >�$"� '��%!���/� ���*��� ��
�� ����!���������� �%��*������� �� ��*�������� !�)�!"��� � �$������� ?�$�� ��3��
�$��$�$"/�-$�� ��++�*������ �$���� ��*������ )���)�� ��� �!"��� ������� �'������ $-
��/� '�)�� ��� �6�� ��� '�������$�4!�%�!"��4�� ����)$���� � ,�.$���� �-��"� ��3��� '� � -
���$�� ��'��$��!����� ���-�$���� �� .)�'������$�!"���� � ������� 9� $�� 3�� �����
�� !�$���$���� '������$��� �4����-������ .)�'������$�!" ���� ������� '�� �%$�)���#
������������ '��+�!��� �� ��'�6������ �*!�$��1'�����-�� �� ������*�2����� ,�.$ � -
��� ���%�������� .)�'������$�!"���� ��*�!"$�$�� %�!�� '� !�-���� �� �.��������- � -
�)���$��%�� �� �$)��$��� ��%�-��� -��$"#�71��
�&�%�=(�� 8���)�� '�������$�!"���
���-�$�� '�)�*�!�/�-$���!�� '��������)� ��!������%�*4� ���-��4�� '�$�)������*�!"$ � -
$��.)�'������$�����%������������$"�%�!"����'�'���)� /�)����)$�����'����!����
��)�$������*������)�*����$�������*��3�����,�.$����� � '�!�-������.)�'����� � -
$�!"���� ������� ��)�)��� '�'���)�� ��� �����!��"/� �� ��� � ���%�����$�� �%$�)����
'��+�!������%�-���-��$���.��������-��)���$��%���-�$ � ��!��"������-�$���

9� ���$��6��� ��%�$�� '������$��� ���-�$��1.)�'������$� !"���� ���!��������
�%$�)����� ����� ������������ ������*���������� '��+�!� �/� �'�����#$��� ���%� � -
���$����'� � $��!��������-�$����.)�'������$��

.'/0(����#1'/�

�!�� �������� *���-�� ���������4�� �%$�)����� ������*��� �����4�� '��+�!�
��*��%�$���� '��4�����/� ��)�$����� ��'�!"*��$��� ��$�� �$�-��)��� ����!"/� ������ � -
����������$����������������'�� ����!"�������������� ���"� - &$�)���@
A/�������)�
��'�!"*������ ����!"#� $��%�!��$���$�� &'�!��$� - (!!������� @�A� �!�� '�!���$"#
$��%�!��$��4��'�4����-��4���!���

&��$������������������$�4��!"����+�����@
/�BA��!��� �)�$���4������!����4�
�%C����3��)��������� W���4����2��� S��������!"#�)�������)��'����$���� { ,xn yn }

*�'������$����!���#6����%��*���

(1)

4�����)$���)�������$������'���������

(2)

��)$��������*)���:)����)$�����;�'�$�)���

(3)

��)$������*)���'�$�)���

(4)

,������ .!����$�� ��)$����� �*� :�;D:B;� ������$��� �� :
; � ���$��!�#$� ���������
����*������$�/� �$����� ��$��$"��<� '���)2��� )�!�-��$� �� ���3����� ��� ���� ��)� � -
$����� ���$���� )�������$� () � �� OY� ���$��$�$�����/� �� -�$���$��� <� ���������
.���4���
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9������������:�;D:
;���!�-���� , , , ,x yV V p Er ��%�*��-�#$�'!�$���$"/�'��� ) -

2����)����$��������� () ��� OY/����!�������'�!��#�.���4�#����$��$�$������
9�!�-���/������6�����������������*)���'�$�)���:B;/� �'����!�#$����!��� # -

6����%��*���@
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���$��������$��)����$���$���4����-������!�����'��!� '�����@�A/�����������
���!������4����2��*���#$���%�*�$��3�$�!"����4����-� �����!�����@
/  6].

���)��$�*�2��� '������$��� ��$����� )���-��4�� �%C����@ 
A� �� ��'�!"*�������
���-�$���� ������ �� 2��$��!"����� ��*���$���� �$���4�� ' ����)��� �!�� '����!����
)�!�%������������������������������$���-!��������)� ��$���������*)��$"#�@
A�

,���*������� �$� �)����$�� �� $��'���$���� '��� �'������� ��*)��� -!����
��-��!�#$�������'�!"*��������+����!��F����/�)�)�.$� ����!��������%�$��@	A�
(��!�4�-�����%��*���������$�����'���*��������!����% �-���'���������� n� �:'��� � -
�������$��%�!��$������*)��$�;��������������&'�!��$� - (!!�������

,�!�-������ ���$���� ���������� �����$��� ������ ��$���� � ��$����!�����
,�������$���'�$���4����������� ��4� - ��$$��@
A�
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,��� ����+�)�2��� ��*��%�$������ '��4������ '������!��" � ���4�-��!�����
���������� ��$�-����� ���������� �� ��*�!"$�$���� ���-�$ ��� ���4��� ��$����� �� '� � -
4�����

9� )�-��$��� '������� ������$����� ���������� �� �*���$�� �� '�)�$��� '��4����
GHIJKL� :&�%���)��� ��'��)��'"#$������ 2��$�� :&&�M;� �� � %�*�� =��$�$�$�
��-��!�$�!"������$���$�)������$���$�-��)���4��+�*�) ��&8� (�/�������%���);
'������-�$���%$�)����� '��+�!�� NACA1��
���8���'�)�*����$�'��)$�-��)�� '�!���
���$��$�$���� �� ���'����!����� ���!����� �� ���'�*���� � 4!��� �$�)�� �'!�$"� ��� a )�

:��'�����/� a = 16°���������
;��=*�.$�4���!����$�������������4!������� ����$�4��! " -
���� ����)$����$�)� :�� -��$���$�/� )�.++�2���$��� '��C� ����� ��!�/� ������;�� N���"
3�� '��������� .)�'������$�!"���� ������� @OA�� 9����/� - $�� ���-�$�� ���)�!")�
*�����#$� )��$�-��)��� �4�!� �$�)�� :P a )�  ~��Q;� �� ���$��$�$������ max.yaC � 5$�

��%�!"�����$�'�����%C�����$������%�����$�����%$�)�� ���'��+�!���9�.)�'����� � -
$�/� ��-����� �� ��)�$���4�� �4!�� �$�)�/� �� ����)�� '��+� !�/� 4��� '�4����-���� �!��
!���������/�'���!��$���)���$)����$�������'�*��"���� ��4!����$�)��������
�Q���
��*�����$������%��*��$���%�!"�����$�������*���/�'�� ����6���)���*)����'�����#
����6����'���%���$��.$�4��'��+�!����������.++�)$��% ��!��!�����!�-����!�� � -
�����4���-��$)�����'��+�!���������3�$�%�$"�����-�$� ��'�����'�!"*����������� � -
$������!��$��%�!��$���$���?�$���!����$��$��$�$"/�-$ ���!������)���$)�4���$�� � -
��4��'�*��������4����*��������������'����!��������! �����������6����'���%���$�
'��+�!���)�*����$�����*��-�$�! " ��� .

=���$���$�)3������������4!���������)�.++�2���$����� $��4��$������ fC ���

�$��)�� :�����
;� �� '��+�!�� �)����$��� �� '�4����-���� � !��� ��� �������� '��������$�
'��+�!��:'�������!��)��$��)�/ ` �  =��/�;��!���%����'��4�����:����  4).

��3����$��$�$"/�-$����.$������-�$�����'�!"*���!��"� �����)�����'��$�'�! � -
4�����$)����'�����-��������-�$�����4�!"������-��)�� ���,�������+�)�2���*�� � -
��!��"����$�$�-���%�!"����-��!��.!����$���'��)��$�� ��'��+�!��<�	��/����%6��
-��!���-��)����$���!��OB����

*��$  1.� ��'����!��������!�������
'��+�!�� NACA-0012, M = 0,18, Re =
              = 9 000 000, a = 10°.

,��4������: 1), FLUENT (2).

*��$  2.���.++�2���$�'��C�����
��!�����'��+�!�� NACA-0012,
 M = 0,18, Re = 9 000 000, a = 10°.
,��4������: 1), FLUENT (2), .)�'�� � -
                          ���$�: 3).
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023'$/4��*##5'(0"�)*6

,��+�!"  1 –– ����)�����6��� '��+�!"� )��!�� ����!�$��R�1
�
� �� *�)�� !)��/
�$)!�����������'�����-�����4�!� d* =�
�Q�:����  5).

,��+�!"  2 –– ��'��)��$�-��)���'��+�!"�'���'�)$����4����4����!"�� 4�
����!�$������'�6������ '���)��!)�����*�)��!)�����4�! ��$)!������� '���)��!)�
���$��!��$� d'�  =�
�Q/���*�)��!)��<� d* =�
�Q�:��������  5).

9��� ���-�$���� �� .)�'������$�!"���� ���!��������� '��� ���!��"� '��� �)�� � -
�$�� '�$�)�� V = 40��S��: M =��/
�;/� -$�� �!�� '����4�� '��+�!�� ���$��$�$����!�� -�� !�
 ����!"���� Re = 1,32×106� :������ '��+�!�� b = 0,5��/� '��� �%������� '�!�3����
������*�2��;��� Re = 1,055×106 (b = 0,4��;�<��!���$���4��

9� ��!������ %�*4����-��4�� '�$ � )�� )�.++�2���$��
ayC � ��

axC �'����!�!��"

�� �)����$���� ���$���� )�������$/� �� �!�� �4����-����4� � <� )�.++�2���$��
$yC �

$xC �<� ��$��%���� ���$���� )�������$�� ��"� ) � ��'���!���� 4���*��$�! " ��� ���!"

'����!"��������$��%�/�����"� Y�<����$ � )�!"���������

07*#�)*'��8$#7'�*.')/�59)0:��;#/ � )0"$*
*��.'/0(*$���*#74/ � )*:

=�'�$����� '������!��"� �� �.��������-��)���$��%��71�� 
�&�%�=(��� �$)� � -
$�����%�-���-��$"#�����'!��/����#6���.!!�'$�-��)�#� +����/���*�������<�B��
:4���*��$�!"������";����/

���:���$ � )�!"������";�

5)�'������$�!"���� ��$����)�
'����$��!��$���%����$��)�)��!����)��1
2������ ���%���� :������;/� )�$����
��$����!���#$��� ��� '�����$���� :�!�
�*�������� �4!�� �$�)�;� '!�$�� .)�'�� � -

*��$  3.�E��$����)�.++�2���$�$�����
���'��+�!�� NACA-0012, M = 0,18,
         Re = 9 000 000, a = 10°.

,��4������: 1), FLUENT (2).

*��$  4.�,��+�!"��)����$����'�4���� - -
�����!��������������'��������$��'��1
+�!�� NACA-0012,̀ �  = 0,9, M = 0,18,
           Re = 9 000 000, a = 10°.

,��4������: 1), FLUENT (2).

*��$  5.�=��!��������'��+�!��
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���$�!"���� '!�$+������ �!�� '��+ � !�  1� ��*���� �$��)�� ���$���!� 
/�  �/� �� �!�� ' � �1
+� !�  2 — 1,2 ��

&!����$��$��$�$"/�-$����%�����*�������$��)�����'��� !�������%��'�-������ � -
��������$�� $�-����� '�� ��*����� �� ����"������ �!������ $�!6���� '�4����-��4�
�!��� ��� ���%���  ��)� '�)�*�!�� ��*��!"���� ��'�$����� ��$����� ��!)����� )/� ��
*�)��!)����%�����$��)��/����)���$���$���$�)�������% ���/����!�����$����%�!"���
�$�����$���4�!"����+����� �� '!���/� )�$����� '��)$�-�� )�� ��� �)�*���#$��!�����
����%$�)�����2��$��!"����-��$��)��!��

�!�� �'����!����� ��*������ )��2����� ���%� ������$���� � ��-�$���� '�!�� �� � -
!�������)��4�������*��������4��'��+�!��
/�������6�4 �������$��������$����/

��/
��$�)�#6����*���'!��$��%��:�����	;��9����/�-$����*� �6��������������$�*��'��� � -

*��$  6.�9������������$�����

*��$  7. ,�!�����!�����'����%$�)�����'��+�!��
����4����-������'�$�) �/� a = 25°.
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!���$����'������$���,�.$��������*%�3����
'���$�)����� '�$�)�� -���*� �������� �� �� 3 -
���� ��%��� ���%�� '�� ����$�� ���� ���!���
������6���� *�� '����!�� ��%�-�4�� '�$�)�
(H = 6b = 2,8��;��,���.$�����%���������� � -
������%�: B = 4 ... 5b = 2��;�'�*��!��$�$�)3�
�������.)��������$"���*��6������'�������
'�*���� �$��)�� )��!�/� '��)�!")�� �� '����! "-
���� ��'���!����� .$�� ��*��6����� %��$��
*�$�� � #$.

9��� �*�������� '�!��4�� �� �$�$�-��)�4�� ���!����� '���� ��!��"� �� '!��)��$�
2� � $��!"��4����-������$��)���)��!"���

�!�� �*�������� �$�$�-��)�4�� ���!����� ��� '��������$�� �� �$��)�� �� '��+�!��  1
'��)��$����������������-��$��)��!��%�!��BO������3�� ��$�-�)/������*�)��!)�� ¾  26.
���$��)����'��+�!�����)�!�-��$��������3����$�-�)��� �$���!������'���)��!)�� ¾  22,
������������-��$��)��!��DD��O������*�)��!)��DD�
��� �����3����$�-)���4�6�!��"
)�����)��������$�)��)�3��4���*�.!����$���������*��� �������'� � +�!���

���'����$���.��������-��)�����!���'����!�!��"�-��!� �������$�4����� � -
������ ���!����� �� �4!����� $�-)��� )��$���� �'����!�!�� "� .)�$��'�!�2����� �� .$��
)��'����$��� ��%��!�!��"� ���$��$�$��#6��� ���-�$���� � �*)��� ��!�/� )�$����
�� ������� �!�-��� �)�*���!�� !��"� ��*��-�$�!"���� �!��� ��� ��� ��$�4��!"���
� � 4��*)��

�!�� �'����!����� �!�-������ '�4������$�� �*�������� �$� $�-��)�4�� ���!����
��� '��+�!���� '��������� �������2�$�)��$���� ��'�$���� � '��� a = 10°�� &���� � -
)�����$�-���� �$)!������� �!�-������ ���$��!�#6��� )�.+ +�2���$�� ���!����� ��
��3��������������'��������$���'�����������������O�� ����$���!�����%�!����/�
��

9� ����� .)�'������$�� �*����!��"� $�)3�� ���'����!����� '�!��4�� ���!����
����-�����*��*������)���)���*�)��!)��:������;���!�� ��)��6������%C������'�$����
�*��������'������!��"�4��%��)��/�)�$�������$����!�� �!��"����)�������$������ $���1
�$�����'�����6�!��"�����4���
����

.0('5*�0"�)*'��02/'$�)*6��7�0<*5':

8%$�)����� ������*��������4�� '��+�!�� ����-�$���!��"� �!�� ��!�����%�*4� � -
��-��4�����4����-����4��'�$�)���:���.��������-��)�� �$��%�����$)��$�����%�-��
-��$"#;�

�!�� �������� $�)��� *���-�� �)�!�� '��+�!�� �$���!��"� �� �4�%!�-���� ��$)�
�� -�$�����4�!"����� �-��)����� 9� �!�-���%�*4����-��4� � '�$�)�� �������� 4����2�
�%!��$����$�4����������!�3�!���������$������'����)� �����2�$��������$�'��+�!�/
�� �!���4����-����4�� ¾ ����$��$�$����!��4����$���� .)�'������$�!"��4��* � !��

*��$  8. &�8��������2�$�)��$������'�$���� ,
������������������������'��+�!"  2, a = 10°.

,��������$�����������: 1;/���3����: 2).

*��$  9.�&������*��������'�!��4�����!�����
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9�'��!�������!�-��/�-$�%���*%�3�$"�.++�)$��/����*�� �������*�����������$)���!�
��*���� �4!��� �$�)�/� ��� ��)�$����� ����$������ �$� '��+ �!�� ����!�!��"� *��)��$��
�%!��$"/� ��$)�� �� )�$����� ��� �*����!��"�� �!�� '������ � ��� �����
�� '�)�*���� ���-� $-
������$)���%!�*��'��+�!�  1.

8$����$�!"���� '���$���-���� ��4� ��$)�� ���$���!� � ×10- 6� �!�� �%���� '��+ � -
!���� T��!�� $�-�)� '�� )��$���� �!�� ��������� -��$�� '��+ �!�  1� ���$���!�� ���/� �!�
*�)��!)��<�B�����!��'��+�!�  2:����'���)��!)��<�B���$�-�)/�������������'��+ � -
!������$�-�)������*�)��!)��<�B���$�-�)��8%6���-��!� �.!����$����!��%�*4����-� � -
4�� '�$�)�� ���$���!�� �)�!�� 

�  000 �� �B������ �!�� '��+�!��� 
� �� 2 ���$��$� $�����/
���!���4����-����4��'�$�)���)�!��<�
��  000 ��B��������T��!��$�-�)���!���������
'���!��� '�� ��*�!"$�$��� ���-�$��� ���$���!�� '�������  10- 
�/� �� ��!����� y+ < 1
� � '�!��!��"��!��������4!����$�)��

"420���.'/0(���#070#/�"5')*6����#1'/���*��8$#7'� * .')/�

8%�-��� ��'��$��!����� ���-�$�� �� .)�'������$�� '������ $��� �!�� ��!����
�%$�)����� %�*4����-���� '�$�)���� �!�� .$�4�� �����$��� �'�2��!"���� '�'���)�
����*�!"$�$�/�'�!�-���������.��������-��)���$��%�/� ������-�$���#$�����$�4��! "-
���� ��!�� �� �-�$��� .$��� '�'����)�� 9� �!�-��� �.������� �-��)��� $��%�� �� �$)��$��
��%�-��� -��$"#� '������� '�'����)� �� ��������� ���*���� �� �4����-�����$"#� '�$�)�
�/�)�)��!���$���/��4��'�����$��/���$�)3��*��-�$�!"� �����)���!�������$������*���
�%C�)$�� ���!���������� &� '������ .++�)$��� ���*���� �*� ������� ��$����4�� �4!�
�$�)�/� �� ��� �$����� <� '������'����!����� �.��������-� �)��� ��4��*)�� ���!"
������@�A�

�!�������4���!�-���%�!��������$��������)�!")����$�� ������������'�'����)�
9��4����-������'�$�)�/�)�4�������!����$���!��"��$�� �/�����������!���-��"�%!� *-
)��� ��*�!"$�$��� ,��� .$��� ���%������� �$��$�$"/� -$��$ �)��� �'��6����� �� ����$� � -
$�!"���$�� ��� �-�$����$� �!������ .!����$��� .)�'������ $�!"���� ��$����)�� :��� � -
��4����$����$����.��������-��)���$��%��<���++�*���/ �'�!��.)�'������$�!"��4�
*�!����$����;/�)�$�������4�$�' � �!��$"������)���!�����'�$�)��

 �����$���� '���$��� ��$��/� ��'�!"*�#6��� ��$�4��!"��# � $������� ��'�! " -
����� =*� ��4�/� '�$��� ���!�3���� '���%��*������� ��3��� '�!�-�$"� ����3����� �!�
�4!��'�����$��'�$�)�� d�$� :

( )�$�sin =0,5 ,
ay 
C b /hd ×

*��$  10.�&�$)���%!�*��'��+�!��
�
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4��� 
b  —������� '��+�!�/� h�<� ����$�
��%�-�4��'�$�)��������*����'!��$��%��
>�!��-���*��4�!� Da ��� ��%�*��-�$"� � *��1
�������4!���$�)�/�$�� ��� �$�= / 2.a dD

7�)����%��*��/�'�'���)������4�!
�$�)�� !������� *�����$� �$� )�.++�2 � -
��$�� '��C������ ��!�� �� ������ '��+ � -
!�� �!�� )��)��$���� �.��������-��)��
$��%��

9� ���$��6��� ������ �%6�'� � -
*����/� -$�� ���%�!��� '���'�)$����
'�!�-����  '�'����)�'�$���-��!����4�
.)�'������$���  ��-�$�� ���%�*�� ����� � -
�������"� - &$�)�����!�#$������%�!���)����)$� � ���

��� �����

� '��������� ��*�!"$�$�� ���-�$��� '��+�!�  1� '��� ����!��������
� %$�)������$�����

8%��6��$� ��� ��%�� ��������� %�!"���� ��!�-���� '�'���)� � ��� �4�!� �$�)�
( ���aD ���� 
�Q;/� -$�� �%��!��!���� ��!"���� �!������� ����)��� ��6�4�� '��+�!�� ��
'�����$��$����������'��!�����������$�)���'�'���)��� �����:��������  11) ���$���$ � -
-��)��������3�������� ���-�$���� ��%�*4����-���� '�$�) ���5$�� '�*��!��$��'����!�$"
�6�������'�'���)��<�'�'���)�������!�-����)�.++�2��� $��'��C��������!�� ,

ayCD

)�$����� ���*���� �� ��)���!������ '�$�)�� �� ��!�������� �%��*��� *�����$� �$� �4!�
�$�)�� a �� 7�)��� �%��*��/� �� �4����-������ '�$�)�� '��������$� � ���"������ )�)
��$����4���4!���$�)�/�$�)�����!�-����'��C������� � !��

T$�%�� �*%�3�$"� ���%�)� �'����!����� ��$a � �� .)�'������$�/� ���'����!����

���!��������'��������$��'��+�!���%�-�����������#$�� ����-�$���'��������)����
)�.++�2���$��'��C��������!������-��!���������-�$��' �)�*���#$/�-$��������'� � -
��!����� ( )pC x � �� ��!������ �%$�)����� �$����� *��-�$�!"���� �!������ � )�*����$

�4����-�����$"�'�$�)��:�����
�;����*��3�����*���$�� �'������$���������)������ � -
3��$��� �� ����$�)��� &)����)$�����$"� .$�
�����3������ '�'���)���� ����*��3�� .
,�.$������ .)�'������$�!"���� ��*�!"$�$�
'�� ���'����!���#� ���!����� '�'���)�� ��
�����!��"/� �� ���� ��������� ���%�����$�
�%$�)�����'��+�!������%�-���'�$�)��$��%�
�-�$���!��"� �� ���-�$���� ��.++�2���$�
'��C������ ��!��

$yC � �� ��'��$��!�����
$xC

$�)3�����)� � ��)$�����!��"�

*��$  11. 9!������ �4����-�����$�� '�$�)�
���)�.++�2���$�'��C��������!��'��+�!��
�
R�*4����-���� '�$�)� : 1;/� '����-�$  � y$

 ��� %�*4� �
    ��-����'�$�)�: 2;/��4����-������'�$�)�: 3).

*��$  12. 9!������ �4����-�����$�� '�$�)�� ��
���'����!����� ���!����� '�� ������ '��+�!�  1,
                                  a = 14°.
,�$�)���%�*4����-����: 1;/��4����-������: 2), a = 5° (1),
                       a ��$  = 6,6 (2), � ya

 = 3,04 (1, 2).
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�!�� '���������� )����)$��4�� ��'� � -
$��!����� '������!��"� ���-�$���� ���!�� � -
������ '�� �!����#� ��*!�-���� .!����$��
$��%�� �� .)�'������$�!"���� ��$����)�
:����������� �� ����� 

;��  ��-�$�� '�)�*�!�
:�����
B;/�-$�����%�!�����!"������*����$���
������'����!����������$�4��!"������4�� *-
)�� �)�*����$� '����!"���$"� ����!��������
$�-����� �� ��3���� -��$�� $��%�� :�%!��$"
�%!�*��'�!���)�!��$�)���*��������%����)�/

���������

;�����)�!")��%�!����!�%�����*����$�����) �*����$��*�!����������%��� � -
)��������4����++ � *����

9� '����������� ��3�� ���-�$��� �-�$���!��"� �!������ ��� �� .!����$��� $��%�/
'����$��!��������������)��

�

�)�5*=��*��# 0 70#/�"5')*'����#1'/)4>
*��8$#7'� * .')/�59)4>��(�))4>

�������  1

����������	
�� �����	

� ��� ������ ����
�
� ��
� ������ � ���
� a  =��� 
� �� °
��
����	�� 	�� �
������� ����������
� �������� ��������� 	
�� ������	��� 
�  ����� 
 -
!�	���"	�����		��#���$��	���������
�
����
��������� ���
�% a = 16°).

&���	�	
�� 
	������"	���� ���
	�!
����
�� ��������
�� 
��%
�yC �
�

�xC '��� 
 -

����	�� 	�� �
������� ��� !����� 
� �!���		��� ������ ����
 � ������	��� 
�  �����
!� 	 -
���"	�����		��������������������
���������������
� a > a ��   ��� �((��������)��
�
����
��)�
�
�� ������"	���� ������ ������#� ���� ��
���
�� �� 	 ����"��!�� )�����	
�

����  13. *�����	
������
�
��������+���������+�����
���������
� 	��
�

�����#��������!�
������������������������������������������������������������
�����	�
#� a = 14°.

&�����% 1'#�����%2'#��������!�� �����
!�	���"	�+�����	���
�% 3'#�����	���% 4).

����  14. ,�

	
����)�
�	��� ��!�	����������	�
����������	
�������	

��������������
�
��#
                                 a = 14°.
&���
-���-����	���% 1), ����
-����	���% 2), ����
-����% 3),
         �����
�% 4), � ya

 = 2,82 (1, 3), 2,84 (2), 2,87 (4).
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�% Da ��  =�01'�������
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� �������
���
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��� �����

10�4��������5����)	 � ��	

� � .xC
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� ����	

� ���
)
� )�������� ����)�����#� ��� � �������� ����
�"	�
��
���������������+�����������������������	

���
�� ���
��	

����������
��7��#
��
� a ��  =��1�%�
��  17, b'��	��������	�!�������������	

��
�	�#�����	������	 �+

����  15. ����������	
�������	

��������������
�
  1.
�������% 1'#� �����
!�	��% 2).

����  16. 8	������"	�����������
��
�
�����
�
  1.
������9���!!��	�+�% 1'#���)���+�����
�"�% 2'#�)��������% 3':� �����
!�	�9���!!��	�+�% 4'#���)���+��� � -

�
�"�% 5'#�)��������% 6).
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